O
(]
n
O
4y}
40
20
O
(b]
2 0
(4v]
.20
-40
0.4
0.3
< 02
0.1
0.0
100
o
© 50
(@)
()
T 0
o
£ .50
=
-100
200
150
Q
=
< 100
>

50

lab
r

=== Iao

1 'E

IC 1158

arcsec

-50 0 50 -50 0 50
arcsec arcsec
7‘ T ‘7 0_40 T T T T T 1T 17T T T T T T T T 1 ‘ I\ T T T T T T T T T T T T T T T T T
‘ | _— h= 18"
L J | i
I Mo3o | — =247
L ] 0.6 : h= 43" |
— _1110.20 I
| J
L i |
| Thar 1
L 4110.10 I
| J
|
R 0.00 :
|
|
i 7(1-0.10 :
L i |
|
B “1§-0.20 '
i | W-0.30
7‘ | ‘ ‘ ‘7 -040 0-0\\\\\\\\\‘\\\\\\\\\‘I\\\\\\\\\‘\\\\\\\\\‘\
-40 -20 0 20 40 0 10 20 30 40
arcsec Radius (arcsec)
= o E - | E
E | Toar Ag == |2 o 100 - Moar e
3 ! A 2 hea/ma - S
B | 8 E £ 80: -
g | g \x/ r |
& | E c 60°¢ =
g E 3 r .
>£ 40 ¢ .
* 20 i
‘ ‘ ‘ e 0 ‘ ‘ ‘ ‘ ‘ ]
0 10 20 30 40 0 20 40 60 80 100
Radius (arcsec)
A A ] Q... AT
B | T + ] b 2
- T R +:+ * j rcﬁ,[:al:o__c.c;rr Mpo ? -
- oy 4 Q, - Ay(r,) © 0.31
r : bar L4t + 1 rgetl)lo—corr . ATax -
- . | + B Qgarony . Vigw @ 87.27 27 km/s
o+ T | i rea o™ Mm@ 56.25, |5 arcsec
- | B (QEaronlyyhalocorr . Vyeum(Ropd) @ 83.47 ’2 km/s
- | ! + ] (raronly)halo-corr . daVseum(0) : 63.37 52 km/s/kpc
0 10 20 30 40 Qq(r,) : 0.207 0% M/M, (<R, : 2.70
Rad|us (arcsec) Qtllalo—corr(rbar) : 014 a: 16.1 kpC
e: 0.38 V., : 196.0 km/s
7““““‘“““““l‘““““““““‘L
i i I
L _ | J
L V _ _— QT |
i Viaio i — Q_r|1_alo-corr : )
i V3.6um 7 06 I~ . Qbar-only 1 _|
L max - T !
VHI _ Qbar-only&halo-corr | 7
L _ T |
I J
|
I -
|
d_ 04 - : rbar —
|
|
|
|
|
1
0.2} '
|
\ \ \ 00 coov e by v 1 \T\N\T\_\T :
0 20 40 60 0 10 20 30 40

Radius (arcsec)

Radius (arcsec)



